JL_

Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 96 - 81 =
2,
2) 555 - 1 = 3.
4.
3 893 - 22 =
5.
4 588 - 340 = 6.
7.
5 8,112 - 7 = 8.
9.
6) 5,858 - 64 =
10.
) 6,213 - 477 = 11,
12.
8 4,608 - 3,085 =
9 45 - 7 =
10) 28 - 13 =
11) 598 - 1 =
12) 923 - 82 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers

1 15
1) 96 - 81 = 15

2 554
2) 555 - 1 = 554 3. 871

4 248
3 893 - 22 = 871

5 8,105
4 588 - 340 = 248 6. 9,194

7 5,736
5 8,112 - 7 = 8,105 N 1,523

9 38
6) 5,858 - 64 = 5,794

10. 15
) 6,213 - 477 = 5,736 1. 597

12 841

8 4,608 - 3,085 = 1,523

9 45 - 7 = 38
100 28 - 13 = 15
11) 598 - 1 = 597
12) 923 - 82 = 841

1-10 | 92|83 75|67 [58[50] 4233|2517 |
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JL_

Subtraction (Horizontal) Name:
Solve each problem. Answers
15 8,105 15 871 5,736
554 38 1,523 248 5,794 1.

2.

1) 96 - 81 =
3.
4,

2) 555 - 1 =
5.

3) 893 - 22 = °
7.

4) 588 - 340 = 8.
9.

5 8,112 - 7 = 10.

6) 5,858 - 64 =

) 6,213 - 477 =

8 4,608 - 3,085 =

9 45 - 7 =

10) 28 - 13 =

M odified 1-10 [90]80[70[60|50[40[30]20[10] O |
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 91 - 15 =
2,
2) 381 - 3 = 3.
4.
3 162 - 39 =
5.
4) 786 - 258 = o
7.
5 6,877 - 5 = 8.
9.
6) 3,436 - 94 =
10.
7 1,700 - 923 = 1.
12.
8 7,144 - 5,759
9 60 - 4 =
100 35 - 30 =
1) 707 - 1 =
12) 259 - 90 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers

1 76
1) 91 - 15 = 76

> 378
2 381 - 3 = 378 3 123

4 528
3 162 - 39 = 123

5 6,872
4 786 - 258 = 528 0. 3,342

- 777
5 6,877 - 5 = 6,872 8 1,385

9 56
6) 3,436 - 94 = 3,342

10. 5
7) 1,700 - 923 = 777 1. 706

12. 169

8 7,144 - 5,759 = 1,385

9 60 - 4= 56
10) 35 - 30 = 5
1) 707 - 1 = 706
12) 259 - 90 = 169

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12( 8 | 0
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers

{

5 1,385 3,342

378 123

76

6,872
56

77
528 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

91 - 15

381 - 3

162 - 39 =

786 - 258 =

6,877

1
ol
1

3,436

1
©
N

I

1,700 - 923 =

7,144

60 - 4 =

1
ol
\l
(6]
(o]

I

35 - 30 =

10.
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 62 - 56 =
2,
2) 205 - 2 = 3.
4.
3 912 - 28 =
5.
49 976 - 276 = 6.
7.
5 6,265 - 2 = 8.
9.
6) 8,445 - 95 =
10.
7 8,267 - 870 = 11
12.
8 3,454 - 2,320
9 55 - 8 =
10) 59 - 55 =
1) 142 - 4 =
12) 825 - 65 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0
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Subtraction (Horizontal) Name. Answer Key
Solve each problem. Answers
1 6
1) 62 - 56 = 6
2 203
2 205 - 2 = 203 3. 884
4 700
3 912 - 28 = 884
5, 6,263
4 976 - 276 = 700 6. 8,350
7. 7,397
5 6,265 - 2 = 6,263 8. 1,134
9 47
6) 8,445 - 95 = 8,350
10. 4
7) 8,267 - 870 = 7,397 11, 138
12, 760
8 3,454 - 2,320 = 1,134
9 55 - 8 = 47
10) 59 - 55 = 4
11) 142 - 4 = 138
12) 825 - 65 = 760
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1-10
11-12

92

75|67 [58[50( 4233|2517 |




C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
203 4 a7 6 1,134
700 7,397 884 6,263 8,350 1.
2
1) 62 - 56 =
3
4,
2) 205 - 2 =
5.
3 912 - 28 = °
7.
4 976 - 276 = 8.
0.
5 6,265 - 2 = 10.
6) 8,445 - 95 =

7) 8,267 - 870 =

8) 3,454 - 2,320 =
9 55 - 8 =
10) 59 - 55 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 87 - 36 =
2,
2) 318 - 3 = 3.
4.
3) 426 - 15 =
5.
4 924 - 740 = 6.
7.
5 4,660 - 6 = 8
9.
6) 8,878 - 56 =
10.
0 7,777 - 287 = H
12.
8 4,849 - 4,461 =
9 19 - 8 =
10) 83 - 35 =
11) 278 - 7 =
12) 756 - 60 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers
1 51
1) 87 - 36 = 51
2 315
2 318 - 3 = 315 3 411
4 184
3 426 - 15 = 411
5, 4,654
4 924 - 740 = 184 6 8822
7 7,490
5 4,660 - 6 = 4,654 g 388
9 11
6) 8,878 - 56 = 8,822
10. 48
0 7,777 - 287 = 7,490 1. 271
12 696
8 4,849 - 4,461 = 388
9 19 - 8 = 11
10) 83 - 35 = 48
1) 278 - 7 = 271
12) 756 - 60 = 696

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-12( 8 | 0




C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
411 184 8,822 4,654 51
388 315 48 7,490 11 1.
2
1) 87 - 36 =
3
4,
2) 318 - 3 =
5.
3 426 - 15 = 6.
7.
4 924 - 740 = 8.
0.
5 4,660 - 6 = 10.
6) 8,878 - 56 =

0 7,777 - 287 =

8) 4,849 - 4,461 =
9 19 - 8 =
10) 83 - 35 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
Math ] M odified 2
www.Col
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 98 - 35 =
2,
2) 315 - 7 = 3,
4.
3 959 - 31 =
5.
4 785 - 420 = 6.
7.
5 2,420 - 2 = 8.
9.
6) 5,699 - 67 =
10.
7) 4,059 - 346 = 11,
12.
8 5,920 - 4,511 =
9 45 - 5 =
10) 87 - 74 =
1) 218 - 9 =
12) 431 - 92 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name:. Answer Key

Solve each problem. Answers

1 63
1) 98 - 35 = 63

2 308
2 315 - 7 = 308 3 928

4 365
3 959 - 31 = 928

g 2,418
4 785 - 420 = 365 6. 9632

7 3,713
5 2,420 - 2 = 2,418 8 1,409

9 40
6) 5,699 - 67 = 5,632

10. 13
7) 4,059 - 346 = 3,713 11, 209

12, 339

8 5,920 - 4,511 = 1,409

9 45 - 5 = 40
100 87 - 74 = 13
11) 218 - 9 = 209
12) 431 - 92 = 339

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-12( 8 | 0
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Subtraction (Horizontal) Name:
Solve each problem. Answers
40 308 928 1,409 3,713
63 2,418 5,632 13 365 1.

2.

1) 98 - 35 =
3.
4,

2 315 - 7 =
5.

3 959 - 31 = o
7.

4) 785 - 420 = 8.
9.

5 2,420 - 2 = 10.

6) 5,699 - 67 =

7) 4,059 - 346 =

8 5,920 - 4,511 =

9 45 - 5 =

100 87 - 74 =

M odified 1-10 [90]80[70]60|50[40[30[20{10] O |
[ Math ] www.CommonCoreSheets.com 5
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 62 - 48 =
2,
2) 640 - 4 = 3.
4.
3 786 - 74 =
5.
4 853 - 316 = 6.
7.
5 3,963 - 7 = 8.
9.
6) 2,373 - 21 =
10.
7) 9,923 - 787 = 11,
12.
8 7,357 - 3,589 =
9 21 -7 =
10) 94 - 83 =
11) 393 - 7 =
12) 397 - 48 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers

1 14
1) 62 - 48 = 14

2 636
2) 640 - 4 = 636 3. 712

4, 537
3 786 - 74 = 712

5, 3,956
4 853 - 316 = 537 6. 2,352

7 9,136
5 3,963 - 7 = 3,956 . 3,768

9 14
6) 2,373 - 21 = 2,352

10, 11
7) 9,923 - 787 = 9,136 1. 386

12. 349

8 7,357 - 3,589 = 3,768

9 21 -7= 14
10) 94 - 83 = 11
11) 393 - 7 = 386
12) 397 - 48 = 349

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-12( 8 | 0




C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
9,136 3,956 712 537 636
2,352 3,768 14 14 11 1.

1) 62 - 48

2 640 - 4

3) 786 - 74 = 6.

4 853 - 316 = 8.

5 3,963

1
~
1

10.

6) 2,373

1

N

=
1

7) 9,923 - 787 =

8) 7,357 - 3,589 =
9 21 - 7 =
10) 94 - 83 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
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JL_

Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
) 74 - 29 =
2,
2) 549 - 3 = 3.
4.
3) 470 - 93 =
5.
4 945 - 702 = 6.
7.
5 7,247 - 8 = 8.
9.
6) 8,935 - 48 =
10.
7) 2,062 - 944 = 11,
12.
8 8,045 - 7,883 =
9 23 - 5 =
100 84 - 83 =
11) 557 - 6 =
12) 619 - 80 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name. Answer Key

Solve each problem. Answers
1 45
) 74 - 29 = 45
2. 546
2) 549 - 3 = 546 3 377
4 243
3 470 - 93 = 377
5, 7,239
4) 945 - 702 = 243 6. 8,887
7 1,118
5) 7,247 - 8 = 7,239 8 162
9 18
6) 8,935 - 48 = 8,887
10, 1
7) 2.062 - 944 = 1,118 1. 551
12, 539
8 8,045 - 7,883 = 162
9 23 - 5 = 18
10) 84 - 83 = 1
11) 557 - 6 = 551
12) 619 - 80 = 539

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-12( 8 | 0




C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
377 7,239 1 162 243
1,118 18 45 8,887 546 1.

) 74 - 29

2) 549 - 3

3 470 - 93 = 6.

4 945 - 702 = 8.

5) 7,247

1
o
1

10.

6) 8,935

1
IN
(00]

I

7 2,062 - 944 =

8 8,045 - 7,883 =
9 23 - 5 =
10) 84 - 83 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 64 - 21 =
2,
2) 256 - 7 = 3,
4.
3 232 - 20 =
5.
4 956 - 534 = 6.
7.
5 6,982 - 8 = 8.
9.
6) 3,380 - 65 =
10.
7 3,306 - 137 = 11.
12.
8 4,979 - 1,971 =
9 76 - 2 =
100 71 - 30 =
11) 665 - 7 =
12) 165 - 19 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




=

Subtraction (Horizontal) Name. Answer Key
Solve each problem. Answers
1 43
1) 64 - 21 = 43
2 249
2) 256 - 7 = 249 3 212
4 422
3 232 - 20 = 212
5, 6,974
4 956 - 534 = 422 6 3315
7 3,169
5 6,982 - 8 = 6,974 8 3,008
9 74
6) 3,380 - 65 = 3,315
10. 41
7 3,306 - 137 = 3,169 1. 638
1 146
8 4,979 - 1,971 = 3,008
9 76 - 2 = 74
100 71 - 30 = 41
11) 665 - 7 = 658
12) 165 - 19 = 146

C

Math ] www.CommonCoreSheets.com

1-10
11-12

92

75|67 [58[50( 4233|2517 |




C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
43 3,315 422 249 41
3,008 212 6,974 74 3,169 1.

1 64 - 21

2) 256 - 7

3 232 - 20 = 6.

4 956 - 534 = 8.

5 6,982

1
o
1

10.

6 3,380

1

(@))

o1
1

7 3,306 - 137 =

8) 4,979 - 1,971 =
9 76 - 2 =
10) 71 - 30 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
Math ] M odified 3
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JL_

Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 75 - 32 =
2,
2) 534 - 8 = 3,
4.
3 214 - 13 =
5.
4 231 - 149 = 6.
7.
5 2,756 - 1 = 8.
9.
6) 7,071 - 35 =
10.
7) 9,238 - 126 = 11.
12.
8 7,052 - 1,602 =
9 53 - 3 =
100 73 - 21 =
11) 942 - 8 =
12) 796 - 73 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0
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Subtraction (Horizontal) Name. Answer Key
Solve each problem. Answers
1 43
1) 75 - 32 = 43
2 526
2) 534 - 8 = 526 3. 201
4 82
3 214 - 13 = 201
5 2,755
4 231 - 149 = 82 6. 7,036
. 9,112
5 2,756 - 1 = 2,755 8 5,450
9 50
6) 7,071 - 35 = 7,036
10, 52
7) 9,238 - 126 = 9,112 1. 034
12 723
8 7,052 - 1,602 = 5,450
9 53 - 3 = 50
10) 73 - 21 = 52
11) 942 - 8 = 934
12) 796 - 73 = 723
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C:h Subtraction (Horizontal) Name:

Solve each problem. Answers
9,112 52 526 82 7,036
2,755 43 5,450 50 201 1.

1) 75 - 32

2) 534 - 8

3 214 - 13 = 6.

4 231 - 149 = 8.

5 2,756

1
[H
1

10.

6 7,071

1
w
(6]

1

7) 9,238 - 126 =

8 7,052 - 1,602 =
9) 53 - 3 =
10) 73 - 21 =

1-10 (90| 80| 70|60 [50] 40| 30]20] 10] O |
Math ] M odified 9
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JL_

Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 95 - 37 =
2,
2) 859 - 6 = 3.
4.
3 453 - 24 =
5.
4 770 - 608 = o
7.
5 8,938 - 3 = 8.
9.
6) 2,984 - 18 =
10.
7) 3,338 - 674 = 11,
12.
8 9,322 - 4,685 =
9 90 - 9 =
100 83 - 16 =
1) 212 - 7 =
12) 706 - 49 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0




ﬂh Subtraction (Horizontal) Name:. Answer Key

Solve each problem. Answers

1 o8
) 95 - 37 = 58

2 853
2 859 - 6 = 853 s 429

o 162
3 453 - 24 = 429

5, 8,935
4 770 - 608 = 162 o 230

7. 2,664
5 8,938 - 3 = 8,935 s 4,637

9 81
6 2,984 - 18 = 2,966

10. 67
7 3,338 - 674 = 2,664 205

12. 657

8 9,322 - 4,685 = 4,637

9 90 - 9 = 81
10) 83 - 16 = 67
1) 212 - 7 = 205
12) 706 - 49 = 657

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers

{

2,664 429
853 162

81
67

58
4,637

2,966
8,935 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

95 - 37

859 - 6

453 - 24 =

770 - 608 =

8,938

1
w
1

2,984

1

=

oo
1

3,338 - 674 =

9,322

90 - 9 =

1
IN
(e))
(0 0]
ol

|

83 - 16 =

10.

[ Math ] WWw.Co

M odified
mmonCoreSheets.com

10

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




	 1
	
	

	 2
	
	

	 3
	
	

	 4
	
	

	 5
	
	

	 6
	
	

	 7
	
	

	 8
	
	

	 9
	
	

	 10
	
	


